3. EXSEMN-RERRI -HtEERBANERMBRUREER

K = ( Bt x F

=48 RERH T~4 A 5~ 10~19X
FEPE|RFEEY| X | EXEH| FXPH | XY | X3 | RHEEH
o # 549 5,308 300 618 128 861 68 881
B K B ¥ 26 286 4 13 14 98 5 72
§ik E S - - - - - - - -
BOR ¥ 76 540 31 66 24 160 15 183
S 47 1,488 16 35 9 61 11 151
ER-HR- 0 0 _ _ _ _ _ _
Btih-KEE
2 iy - E M E 9 188 2 3 1 9 3 44
#5E - /NFEE 141 1,098 81 167 37 242 15 190
TE-REE 5 59 1 3 2 15 1 19
8 E ¥ 19 81 15 24 2 13 - -
 —F R ¥ 226 1,568 150 307 39 263 18 222
N % - - - - - - - -
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B IR7E (BT A, FT)

B & A ) BNE
20~29 A 30ALLE Hi - RERE R E DA o

BEMH| EEEHN| FETH | HXER | FTEMHN| EXEH| SXTH|RHEXER

29 688 22 2,260 2 - 31 741

1 28 2 75 - - - -

6 131 - - - - - -

7 175 4 1,066 - - - -

- - - - - - 1 5

- - 3 132 - - - -

3 78 5 421 - - - -

1 22 - - - - - -

2 44 - - - - - _

9 210 8 566 2 - 21 567

- - - - - - 9 169
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